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1dm®=1000cm® ¢ 1cm® =1000mm® ¢ 1cm = 10mmfl <3 saill oyl 8l
1m*=1000000000mm? [ bl clas g 8
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12cm =120mm ¢ 25cm? =2500mm?
0.081cm® = 81 mm® ¢ 0.02dm*® =20cm®
99 ua 3 (s
1km = 1000m ¢ 12400m = 12.4km
720mm = 0.72m ¢ 40dam = 4000dm
99 a4 (n Al
0.7km =70mm ¢ 37m=0.37hm
9km =9000m ¢ 0.28dam = 2.8dm
99 ua 5 (A
1km = 10000m? ¢ 52km? = 5200ha
28ha = 0.28km* ¢ 670000m> = 67ha
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0.3dm? =30cm? ¢ 0.3mm?= 0.003cm?
0.3 m?=3000cm? ¢ 2004cm? = 20.04m?
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54 L =5400cL ¢ 62L = 6200hL

380cL=380L ¢ 380cL = 38m?

99 a8 (ol
1L = 1dm?® ¢ 1m® = 1000L
18m° =0.18hL , 3.6L = 3.6dm’®




